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Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select No improvement.

The old lady nearly dead from fright.

1. dead out of fright

2. died of fright

3. died with frightening
4. No improvement

Ans :- 2



Select the most appropriate meaning of the given idiom.
Come to the point

1. To meet at a designated place

2. To speak plainly about the real issue
3. To get reconciled to something

4. To unravel a mystery

Ans :- 2




Given below are four jumbled sentences. Out
of the given options pick the one that gives
their correct order.

A. | took a deep breath and inhaled the air.
B. It was a fine spring morning.

C. As soon as | entered the garden, lush green
~ grass welcomed me.

D. The freshness in the air drew my feet
towards a garden.
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1.ACBD

2. BADC
3. CDAB
4. CADB

Ans :- 2



Given below are four jumbled sentences. Out
of the given options pick the one that gives
their correct order.

A. It hurts the heart most of all by inflating
blood pressure.
B. You can blow up and let it out or bottle it up

e and ignore it.

C. The question then arises— What to do about
it?

D. Researchers have long agreed that anger
hurts your health.
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1. CADB
2. BCAD
3. DBCA
4. DACB

Ans:- 4



Select the correct indirect form of the given sentence.

The guard said to the visitors, "Do not take photographs inside the
museum.”

1. The guard forbade the visitors to take photographs inside the
museum.
2. The guard told the visitors that do not take photographs inside the
~-museum.

3. The guard warned the visitors not to be taking photographs inside
C the museum.
4. The guard requested the visitors to not took photographs inside the




Select the most appropriate ANTONYM of the given
word.

Assist

1. Support
2. Obstruct
3. Conceal
4. Decline

ANS :- 2




In the following passage some words have been
deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate
option for each blank.

There are certain spheres of one's life in which one
) should go by one's own (1) rather than
—.-- follow another's counsel. The choice (2)

one's subject of study is one such sphere.

C ) one is genuinely interested in a subject,
one (4) never opt for it. India is already full
~of (5) pegs in round holes, who are unfit for
thelr roles and are doing more harm than good.

=/ L)~

Select the most
appropriate
option to fill in
blank number

(1).

1.alternative
2. option
3. Possibility
4. choice

Ans :- 4















In the sentence identify the segment which contains the
grammatical error.

The present what | buy for you yesterday was very
expensive.

1. was very expensive
2. The present

3. for you yesterday

4. what | buy

Ans ;-4




Select the most appropriate synonym of the
given word.

Accurate
1. Compact
2. Erroneous
3. Precise

4. Capable

Ans :- 3




Select the word which means the same as the group
of words given.

A place where plants are grown for sale

1. Garden
2. Aviary
3. Yard

4. Nursery

Ans :- 4




Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no
need to substitute it, select No improvement.

He was greatly disappointed to be failed again.

1. No improvement
2. by being failed

3. to failed

4. on failing

Ans :- 4



Select the most appropriate meaning of the given
idiom.

Give a piece of one's mind

1. To advise someone

2. To donate something valuable
3. To rebuke someone strongly
4. To share one's ideas

Ans:- 3




Fill in the blank with the most appropriate word.

There is a growth of flowers in tropical countries.

1. pious
2. plenty
3. luxuriant
4. powerful

Ans :-3



Select the most appropriate ANTONYM of the given
word.

Industrious

1. Durable
2. Cautious
3. Diligent
4. Lethargic

Ans ;- 4
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Select the INCORRECTLY spelt word.

1. Affiliate

2. Annihilate

3. Exclaimation
4. Aesthetic

Ans :- 3




Fill in the blank with the most appropriate word.

There are errors in your assignment.

1. numerous
2. multifold
3. abundant
4. Sufficient

Ans :- 1




Select the INCORRECTLY spelt word.

1. Persuit
2. Actually
3. Parallel
4. Opinion

Ans -1




In the sentence identify the segment which contains
the grammatical error.

He went to work but returned back immediately.

1. immediately

2. He went

3. but returned back
4. to work

Ans :- 3




Select the correct passive form of the given sentence.
He incurred heavy losses in business.

1. Heavy losses are being incurred in business by him.
2. Heavy losses are incurred in business by him.
3. Heavy losses were incurred in business by him.
4. Heavy losses was incurred in business by him

Ans :- 3



Select the most appropriate synonym of the
given word.

Affluent

1. Impoverished
2. Hostile

3. Prosperous

4. Authentic

Ans :- 3




Select the word which means the same as the group
of words given.

Putting to death painlessly to end suffering

1. Altruism
2. Blaspheme
3. Genocide
4. Euthanasia

Ans -4
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